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dY
dx

= tan (00” + 0)

OF = a’ - b2

Ii1 aa Hl3VlfEl@l
-- .
OF3 a’ - bz-=
a’ a2

SE/  8.2
OF
a

= ! (a* - bz)i = e
a

&,  e2 = a2 - b” = ,-b’
a2 a ’

w;Q  1 - e2 = b2
2
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YE
x

~ (I  - e’) $ = (1 - e’)  tan 0 . . . ...(3)

_ + --yl- = 1x1

a’ (1 -- e*)a’

x’ t -L  = a
1 - e2

. . . . . . . . . . . (4)

y’ = (I -- e2)‘.  tan* 0 .x2

2 + (1 - e2)* tan’ 0 .x’ = ,
a ” (1 - e2)a’

x*  { 1 + (1 -e”).  ?!!Z!!  1 = a* a

cos’  0 (1 - e”)sin’  0x’ { _____-__-
CDS2  0

} = a2

.x2 = a2 cob2  0 . . . . . . . . . . . (5)
1 e2 sin2 0

x = a cds  tp____-.  .  . (6)
1 -.  ez sin’0

y2 = ‘(1  -- co?  0) (1 - e”)

1 - @sin2 0

= (sin” 0 - e2sin20)a’-__-_
1 ~ eSin'@

Y=
a(1 - e2)  sin 0___-. . . . . . . . . . (7)

1 -- e2sin’0
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dy X b2- =-_.-
dx Y a2

. . . . . . . . . . . . . . . (9)

hfJfllWll~~Y?Ub"  (Differentiating) : (Q'FI~Y&%~~M~~)

d=y-=-
5% -x-c!,

dx2
)

Y2
dY

b== -
aY

(y + x.f..$,

bz=--
a’y”

(y+$$,

b1= -
a?’

( b2x2  t alyz )

a?

d2y a’b4 b4-zz - -= -___
dx’ 03 aY
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(1 + x’ Y)3
R, = - y”  a 4

b4

a2y3

(a?’  + x2b4$

a4b4

[ “‘(1  - e2)‘sin2  0 + a2b”.cor2?Z,:

1 - e2sin’0

a’b4

P

1
a ” ( 1  - e2)2sin20  +  a”(1  - e2)2 cos’0

1 - e’sin*0
13

R,, = - -
as(l - e2)’

i :I(!-e’}’ (sin2  0  +  cos’  0
-1:

1  - e%in*  0-__ -
a”(1  - e2)’

a*(1  - e2)2 ( 1  - e2sinS0)i

. R,  =  - a(1 - e’) . . . . . . . . . . (10)
[  I  - e2sin20 ]f
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30” %I

&$l log Rm

0 ” 7.317 7301 49

15” 7.318 0198 78

30” 7.318 8120 90

R, naiadi.

207 84048.6 Yf?l

207 97918.8 V@l 13870.2 V+l

208 35891.6 V$l 31912.8 ”
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’ OM = a.cos0.sec ty. . . . . . . . . . . . . (12)
1  - e2sin20

Q&4  OM = $ &I $’ = a.cos  0 set w~~ . . . . . .

0-v

a 1 - e%in* 0
. . =@

cos 0 set 4, cos (0 - q,)

-i--
=

a$min  0

(cos 0 cos v, + sin 0 sin w)  cos 0 sex w

a=
cos2  0 + cos 0 sin 0 ran zp
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.

. . 4’

e

a 1 - e’sin 2 0=
cos’ 0 + cos 0 sin 0 (1 - el) tan0

a 1 - e’sin” 0E
cos’ 0 + sin* 0 - e%in2 0

a 1 - e2sin* 0=
1 - e5in’  0

acc = N . . . . . . . . . (15)
1 - ezsin20
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P

AB
C

:

k

H

p 8.3

N= -!e
cos 0

N=- a.cos 0

(\/ 1 - e*sin*0)cos0

a=
1 - e%in*  0

dly0.j  log N ~34lJC1g]'aWllS19~lUb~U  (Clarke Spheroid)

asiyl eilthwdhmm  1” log N

0 ” 111,321 LBJ@I? 6.804 6985

10” 109,641” 6.804 1428

20” 104,649” 6.804 8705
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Everest Spheroid :

wrQgw N log N

0" 209 22931.8 I$ 7.321 6225,40

IO" 209 25026.0 " 7.320 6660,07

20" 209 31059.7 " 7.320 7912,16

arbP;iedil~aiu~b~nil9$tHTdl9  N i?J R, darlnGqaigwGga~  (Llsmsu 26 rwq
dt
Yl)l? N 7-h R, %i%Ylb%4

6th  “P60iUlA”  f?hkkWPrUla  $l”lb&W.J~l~6~~  n &T((%U-$  MD) ?:!i

y :
i i

sin 0

MT0 n = Y = a(1 - ez)sin  0
sin 0

. . . . . . . . . . (17)
(\/  I - e*sin20)  sin0
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X, = OG = OC + X + CB + BE

= OC + X + Z.cos 0 + AN

=  C  +  X  +  Z.cos 0  + Y.cos a.sin  0 . . . . . . . . (21)

.*. CH= HM-MC=N-n=N-N(l-e*)=Ne’

’. OC = CH.cos  0  = Ne*.cos  0  &fi?&b?Td.~

X, = Ne’.cos 0 -I-  X + Z SOS  0 + Y cos a sin 0 . . . . . (22)

Y ,  =  Y s i n a . . . . . . . . .(23)

Z, = BQ - QA = Z sin - Y cos II  cos  0 . . . . .(24)

lildl  (22), (23) LLR: (24) b-WlWbA  (20) 9%

bZ  (Ne’. cos 0 + X + Z cos 0 Yocos a sin 0)2 + b’y’. sin2  a +

a’ (Z sin 0 - Y cos (1 cos 0)’ = a”b’

b’(Ne’.cos  0 + X + Z CDS  0 + Y cos asin  0)’ + b?yz.sin2a  + al(Z  sin 0 -

Y cos a cos 0)’ = a2b2 . . . . . . . . (25)
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Y”  [ 1 - e’ (1 - cos’a .cos?  01  + Zz  (1 - e’.cos*  0) - YZ (2etosa.sin  0

c o s  0 )  +  2Y(I - e*)N.e*cosa.sin  0.~0s  0  +  2Ze*(l - ez)N.cos20  =  (aa  - Ne4.cos’  0 )

( 1 - e’)  . . . . . . . . (26)
Y

Y’A  + Z% - YZC f YD + ZE = F

2Y.A + 22  t!! .B - [Y ;! + Z] C + D f ;! .E = 0

2 Y . A  + 22  !!! . B  - C Y  ;! - C Z  t D  + E d_z
dY

= o

2A+2B(ZdZZ  + ;I!$.;!!)-C(Yd’z+  d_z)-Cd_z +
dYz dY*  dY dY

E d’Z = 0

2Ad:  2BZdZ + 2B( d_’  )’ - CYd2Z  - C d_’  - C dz +
dY2 dY dY’ dY dY

= (ZBZ  - CY + E) = - [2A  + 2B( g )’ - 2C  g J
dYz

2 1 0
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. . . . . . . . . . . . . . . . . (27)

L&lJ?lflj61  M, Y = 0 b&K  2 = n = N(l - e2)

dZ  _ N(l - e’) (2e’cos  a.sincpcos  ( I)  - 2(1  - e’)Ne’cosa.sincp.coscp  = O
dY 2BZ - CY + E

d2Z-=---- 2[ - - e (1 - cos’a  .coscp)]__I__ _
dY= 2N(l -- e2) ( 1 - ekos’q)  + 2e2(1  - e2)cos’q.N

= - 1 - e’ + e2cos2a.cos*cp _~
N(l - e2) [ (1 - ezcos’cp)  + e’cos’q]
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212

.

= - 1 - ez + Pcos’  a.cosz~

(N(1 - e’)

= - (1 - e3 (sin%  + cos*a)  + ezcos’a (1 - sin%p)

, N(1 - ez)

zz - sin% + cos’a  - e%in’a  - e2coszu  + ekos’a  - e%osao.sin*cp

N(1 - e*)

= - (1 - ez)sin2a  + cos’u  - e’cos%.sin  cp  z 5

N(1  - ez) RI8
R,

R,sin’a  + - .cos%(l  - e’sin*q)
1-e’

N.R,

R,,,sin*a  + a(1 - ez) .cos*a(l  - e%in*cp
= - (1 - e%in’cp)g(l  -e2)

NRm

R,sin%  + N.cos%zz -
NR,

. . . . . . . . . . .(28)

R. = [1 +( ; Yl:
d”Z

dY2

, + [N(l  - e’) (2e2cosasincpcoscp)  - 2(1  - ez)Ne%oscrsincpsincp]g

Ra = 2BZ - CY f E

R,,,sin’o  + N.COS*Q
NR,

NRm= .,.............,.....,
N.cos2a  + R,sin’a
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Lat. IogRo = 0

0 6.801 75

10 6.801 88

20 6.802 26

30 6.802 85

40 6.803 73

50 6.804 34

60 6.805 06

70 6.805 65

6.804 6985

6.804 7428

6.804 8705

6.805 0663

6.805 4067

6.805 5628

6.805 8037

6.805 0003
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-!--  I,b  f(x)dX
b - a

l$a = 0” LLAt b = 360” LLfK  f(x) = Ru,  dX  = da

R a  = ’ f Ra.da
21 - 0

- 1 J;NRm .da
N.COS’(I  + R,,,sin*a

wmh.mawim  ia = Z1 ,d  R”.b .da
, + R,sin’c

N.cos*a
*,

H% dl
da

= f ; .soc’a

hi1n’kN.41w  (30) OCRi
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= i \/NR, [arc.tad]r

= t \/NR, [tan-l]:  = i ~NR...:

= <NR, . (31)
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MC= CVv’=  <
CK 2N

M C  =  b2
X0

M C  =  -?-
2Ra

(&b.qd)

X = Gin a LLBZ Y = S.cos  a

?A%siI

S’  .sin*a  + S .COS%  = 1

a’ b2

~&wa-tn a’ b1 S’
2x  = 2x,  = 2Ra

%i%J S’- =
a2

. . . . . . . . . . . . . . (32)

ildli66VlU  (32)
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Ro RC?- .sm’a  + - .cos’a = 1
N R,

Ra R,sin’a  + N.COS’U  = x

NRm

Ra =
NR,

. . . . ..(33)
R,sin2a  + N.COS%

. .’ WdlMlFW  R.  =  & ,;”  R , .  ; .da . . . . . . . . . . . . . . . . . . ..(34)

GE 337 2 1 7



= 4.: { [ ia \/a2  - a’ + ia%inml.f]

i [i.O  fax-O+~aSirL.O]  }

= 4 b.a  !.a  = lab
‘ a ‘2 2

:. wdxmm  R, 8in ( 3 4 )  = f x  (.ab  x  $ = + . . . . . . . . . . (35)

. (35) &ikJfldlUnRlJ  R.. . = f ; .R, = NR, . . . . . . . . . . (36)
m

.

218 GE 337



r..

B

R, Q

0

_I_:::,;
s

d L

+- ,)

(1 - e%in’  cp  )-B  = 1 + i.&in’  cp  + _ 2! .e4sin4 q +

-&s - ](-  3 - 2)
2 2 .e6sin6 q + . . . . . .

3!

= 1 + i.e’sinz  q + y .e4sinJ  cp  + g .e6sin6 cp +

li16sYlu (37) vi
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sin%+7  = 5 15
16-32

.cos  2ql  + ; .cos  4ql

cos (cp  + $7) = cosqcoscp  - sincpsincp

cos 2ql  = cos2(p  - sin*q  = 1 - 2 sin’q

PlIl  D L&l&  2 M~VKWNVTJ:~E~  A

-aIn  (D)  or9d

=A

z B

&.cos  6~ = C

. ..(D)

cos 4q = 1 - 2 sin’29 : 1 - 2 (2 sincp  cos~p)~

= 1 - 8 sin*pcos2q

= 1 - 8 sin’cp(l  - sin’cp)

= 1 - 8 sin*cp  + 8 sin49

;I 8 Ml3VlWQ~  LLflZGl  A LLWU sin’cp  TIE!X

mn D th  3 qtuIf7&T

cos 6cp = 1 - 2sin33q  = 1 - 2(3sin(p  - 4sinQp)*

= 1 - 2(9sin*q  - 24sin4q  + 16sin%p)

= 1 - 18sin’cp  + 48sin4q  - 32sin$

= 1 - 18(;  - ices  2cp)  + 48([cos  4q  - i+ sin’cp)-32sin*(p

= I-9+9cos  2cp  + 6~0s 4~ - 6 + 48(1 ices 2~)  - 32sirPq-,
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= - 14 +9cos 2q + hcos  4q + 24-  24coq 2~ - 32sin6q

zz 10 - ~SCOS  241 + 6~0s 4q - 32sin%p

sin”cp 5 1s 3 I. .
G-2

COS 29 + G cos 4q1  - 32 cos 6q, =C

’ s = a(- e2) ,z  :(l  + i.e’A  + I5 .e  .B  + 35. . .eb.C  + _..__  )dq
s 16

z a (1 -e*)  Jz,[  1  + ie2(f - ices 2~)  +

1 5 3
se CR - ices 240  + ~COS 449

ZE a( 1 - el) Jz:
45

(1 + ie2 - ie’cos 2q  + G e4

15
- cos 29 + ”
64

cos 4cp

4~41  - +$e6  cos 6cp)dq

= a (1 -e’)  Jq’  (1 + ‘:  + A!$  + 175e6
‘PI --)

256

- (ie’  + i e4+  J$  e6)cos  2q

+ (Ee + 1 0 5
64

-e’)  cos 4q  -
256

ze6 cos 6cp)dq
512

. . . . . . . . . . (38)
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B = 3-e*+ Ise4+ 512e6
4 16 512

c =

I, D =

pl
e' = 0.006 676 86579 97291 0991438 ~ldl%dUWUhRJU $961  e2 bLhll04

Clarke 1866 %!c

A = 1 + ; (0.0067686580) + g (0.00676865480)” + +& (0.0067686580)3

= 1 + 0.0050764935 + 0.7031250 x O.OOOO458  + . . . . . . . . . .

= l.OO51093 MT0  log A = 0.002133

B = 0.0051202 My0  log 0 = 7.709287

C = 0.0000108 H?0 IogC  = 5.03342

D = O.OOOOOOO  Psi0  log D = 2.326

Wfl(38) l-311;

S = a(1 - e’) ,“,  1 (A - B.cos  2~ + Cxos  4~ - Dxos  6~) dp .,.... (39)

ma Integrate L~l011  Integrate TikiU hJfWZ$iIX  V = q, v = 2,v = 4cp,

dv d v d vv = 6<p,  dv = drp, - = dq, - = dcp, LEE  - = dq  L&Ti?WlPa~u  (39)
2 4 6
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v , v *
z

--
4

s =
VI

B.cos  Y. “24  + j “ , C.cos  v “4’ -

i a

J,, DcosvdV
6

6 v 2 v 1 V2
v 2 1 4

= a (1 - e’) (Av)“, - (B.sin v) “, + (Chin  v) “, - (D.sin v) z, ]

S = a(1 ~ e’) [A(cp*  - ‘p ,) - iB(sin  2q,  - sin 2q,)

+ $c(sin  4q, - sin 4q,)  - aD(sin 6rp2  - sin 6cp,  - sin 6~~) . . ..(40)
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$8.9

dA =

=

nasla  x uia

R,dqx  21 N cos cp

= 21 coscp  dqx a(1 - e*) X a

(1 - e2sin2q$ (1 - e%in%p)i

= 27 coscpdq.a2(1  - e2)  (1 - e%in%p)‘*

= 21 coscpdq.b*(l  - e2sin2q)e2

.
(1 - x)-”  = 1 - nx + n(n3;  1)  X1  _ n(n  - 1) (n - 2)

3i
x3  + . ..(xl  < 1)

( I  - e*sin%pm2  = 1 +  Zesiu’cp  +  - 2(-2  - ‘) e4sin4q
e 2

- -2(-2-1)(-2-2)e6sin”y,+  -2(-2-1)(-2-2)(-2-.3)
1x2x3 4x3~2~1

2 2 4
*
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= 1 t- 2e’sin’cpi  3e4sin4y,+4e6sin6~+5eesinecp+.....

L-sl’atl

dA = Znb%oscp(  1 + 2e’sin”q  + 3e%in%p  t 4e6sin6q  i

Se%in*cp  + . . . . . . . . )dq . . . . . . . . . . . (41)

?.mrx Integrate (41) PDiIJ+lL&lG?d7  coscp  QIU.Lhl¶J~~~~L& z¶.J  lntergration

8..x+&hp  Intergration  M’aldmngm

1 nil
I coscp.sin”qdq  = __. sin q dq

n + l

I dA  = A [;I  = 2Bb’  [&py,  + i e’sin”cp  + 3 4- esin5q  + - e6
5 7

sin’q  + i e5in9q  + . . . . . I
cpz

.‘...“.>’ (42)
cpl

= 2(b”  (shy,  ~ sincp,)  f 4 e”(sin3q2  + sin$,)

+ ; e6 (sin’q, - siri,cp,)  + . . . . . . . . . . . . (43)

a~nv??bnslaGiaaiwriu

sin”cp = 3 - sincp ~. 1 sin 3q .._..,._......._..........(A)
4 4

sinsq = - 5 ‘In’ - - 5 sin 3q + __ 1 sin 5q1 . . . . . . . . (6)
8 1 6 1 6

sin’cp = 1 35 sincp - 2’ sin 3q~ + L sin 5q -- 1 sin 7qx..(C)
64 64 64 64

(B) LLRt  (C) Ml31fl  (A) ‘$ 3.9
w

8l?l  (42) OlW%%&d
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(P2
A

91
= 2%’ sincp + f e1 ($incp - d sin 3q)

+ J e2 (2 sincp - 5 sin 3~ + __1 sin5 8 1 6 1 6 5q)

+ ! e6 (35  sincp - Z! sin
5 64 64

- 1
64

sin 7q) + . . . . . . . . . .
cpl

= 2(b’. [sincp + csiny,  - 1 e%in  3q + 2 e%inq + 20’
? 6 8 1 6

sin 3cp f 5 e%in  5y, + i e%incp  - 1 eSin  3~ + L
1 6 1 6 1 6

e%in  5fp  - r eSin  74~ + 401
112

. . . . . . . . . . . . = ‘PI
-

n qb’. [ (1 + .! e2 + 3 o4 + 2 e” + ._3 5
2 8 16 1 2 8

e”) sincp -

(i  e2 + & e4 + 4 c6 t’ -A$. e”)  sin 3q t (A e4 + fs  e6

+ & es)sinSq  - (
(P2

J--  e6 + i:,ey  sin 7~]~,
112

. . . . . . . . (44)

A = 1 + c + ?e4  + Le”  + 35---es = =8 1.0032 1 6 128 4016(R%IogA 0.001 4748

B = $+ &e4+ leb.+zea
16 192

= 0.001 1368 (H% log B = 7.05568)

C  =  iee+ $eb +  Ies
64

= 0.000 0017 (99%  log C = 4.2304)

D = J-e<+ 5es
112 . 256

2 2 6

= 0.000 0000
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*I;:  = 2(bz  [ 2.A sin i(cqz  - q,) cos~(q,  + cp*)

- 2B sin i(q~~  - cp,)cos $q,  + q2)  -t  2C sin $ ~ WI).

cos i(cp,  + cp,)  - 2D sin i(cp’  -- cp,)  cos i(q,  + ql]

z 4qlb’  [ A.sin  (9 ) coscp, - B sin 3 ( 9 ) cos 3q,,

+ C sin 5 (kf!?)  cos 5q,  ~ D sin 7 (-4”  ).

+ 360” = A,
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I”@l  tan ly = a(1 - ez)sincp  x \/ 1 - e*sinzcp

1 - e’sin’cp a cos cp

tan w = (1 - el) tan 45”

e2 = 0.006 637 847 (Everest)

tan = 0.993tp 362 153

~~IWhfWhJ  tan II, TIJ tan cp  @17J4S” = 1 - 0.99336153 = 0.006637047

2 2 8 GE 337



a’ b’

Y= yx
. . jjio !? = y-

a’ b’ a Y

+q$o  mN=a
MN  b

‘.’  tan 0 = !I!!! bbat tan 4,
O N

tan0 mN  ON a__z__ __=-
tan tp ON MN b

Vii0  tan 4, = 5 tan0  = b’ tan q
a a’

MiO a tan 0 = b tan xp

ilMaPl~~uos~~arla~~~~~~~

a - b
a

-= f (Flattening)

a2 a2

M N
O N

. mn (47)

WJ.%J (A)
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+ I5 e’(i - $0~ 2~ + &OS  4p]  dcp

1
q = a(1 - e2)  J, [I  + $2(1 - cos 2cp)  + $j e4(3  - 4 cos 2 cp  +

= a(1 - ez) J o [ 1 + a e2 - a e*cos 2~ + 45 e4
64

- ‘5 e’cos 2 cp  + E cos 4cp]  dcp
16

= a(1 - e*)  J T [  (1 + 5 e2 + $ e2)  - (i  e* + g e4)  c0S 247

+ $ cos 49) ] dcp

= a(1 - e3 [ cp(l  + i e’ + g e4)  - :(a  e’ + .L$ e4) sin 2~

f 2!26  sin 4~p]  o

= a(1 - e2)  [ 5 + 5 e21 + 45 e’d - (i e2 +
128

g e4) sin 11

+ 15 sin 27 ] - Q
256

2 3 0

= a(1 - e*)  f + i e2y  + 45 ey ] . . . . . . . . . . . . .
128
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=a(+*-y-3ac*t/ 3ae41/ 45ae4q 45ae61[
T

--__- __ , . . , . , . . . . .
2 8 8 1 2 8 128

= -“2” (1 - $ - ‘$ - T . . . . . . . . ...) . . . . . . . . . . (48)
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f-w’  = BM + BH
sin d A

sin MH’H

%&I sin d ’ HH’
A

sin MH’H
= BM + BH

pS?O  sin d = HH” A

HB’
sin MH’H

:. d = HH’
H B

.cosq’ . . . . . . . . . . . . . . (49)

‘: HH’ = OH’ - OH __--.__  (1)

M
n

n’

cp
cp’

q

N

0
R

H
N ’

H’

232 GE 337



OH’___ = sin cp’  Ssio  OH’ = RH’sin  cp’ = (N’ - n) sin q’
RH’

OH = sinqMT0OH  = HQsinq’ = (N - II) sin cp
OQ

HH’ =(N’  - n’ )sinqd - (N - n) sinq

= N’ sin (p’ - N’ (1 - e2) sincpi - N sin q +N(l - e2) sincp

= N’ sinq! - N’ sincp+N’  e’sinqd - N sin cp  +N sin cp  - N e2

sin cp

= N’ e2sinqf  - N e’sincp . . . . . . . . . . . (50)

e = coscp’  (N’e’sin q’ - Ne2 siny,  )
N

= cos q’
(

ae*sin  cp’ ae*sin(p-
N (1 - e2sin’q’)i (1 - e2sin2q  )1)

ae cos q’
(

sincp’ sin cpzz - - )
N (1 - e’sin’  cp’)i (1 - e’sin’cp  )i

ae*cos  q’ f - sin cp  (I - e’sin$  )I  ,=
N 1 - ezsin2  !!LL?

2

e’ e_’

e s ae’coscp’
(

sincp’(l  - %in*q  + ..)  - sin cp  (1 - 2 ti’cp  + .Y )
N 1 - e’sin’cp,
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el eJ
zz ae%os  cp’

(
sincp’  - i sinq’sin’cp  - sincp  + j sin cp

sin%p’
N 1 - e sin’q,

ae‘ coscp’ ( (sincp’  - sinq  ) ”= + 2 sinq’sincp  (sinq’ - sincp
N 1

1 - e%in’(p  m

aekoscp’  sincp’
e2

=
N

( - sincp  )(l  + z sincp’sincp  ))
1 - e%in2 fqrn

A’p
= ae2cosq’ (  2  coscp  ,sinT(l  + I”

N
sincp’sincp  ) )

1 - e%in*q  m

ae%oscp  ’ * q
e (

cosy,  “.-. 2(1
=

+ I sinq’sincp  )
)

N 1 - e’sin”cp  m

= aekoscp
N

.coscp

tllfl Difference in Latitude

)&Acp=  Sq?Y

m

= ae’cosq
a(1 - el)N

zz
e’a$++y  ;;a (1 _ e’sinQp)*”  (1 + f sincp’sincp)

zz e’cos*cp’.s  cosa
N (1 - e*)

+ e%erm  (K&h) . . . . . . . . . . . . . . . (51)

’
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BB’ Sp=-
sin x sina

x n 6. sina1
S

I& x” = h d .sino
s arc 1’

hezcos2q  .s  cosasina=
s.N(l  - e*)arc  1”

ITT k = e2
2(1  - e’)arc  1”
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/-----;,----.*
A

w

B

Rd

Dd
sz

=
se’C0s2qxosasinu

8N’ N(1 - e2)

72 sze’cos2cpcosasina

8N’(l  - e*)
. . . . . . . . . . . . . . . (54)

2Dd’= (IntGw.3)

2 4 4

is arc 1”
2
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2s e*cos’cpcosasina
\ = XN“(Fz~.  arc 1”

s2 e’cos2p20sasina
2IP (1 - e*)arc  1”

. . . . . . . . . . . . .(55)

3Li 8.20
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